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3. (24%) Country A is a small country that produces and consumes cocoa beans. The world price of cocoa beans is $1 per
bag, and country A’s domestic demand and supply for cocoa beans are governed by the following equations:
Demand: Q° = 12 - P; Supply: Q* =P,
where P is in dollars per bag and Q is in bags of cocoa beans.

(a) Draw a well-labeled graph of the situation in country A if the nation does not allow trade. Calculate the following: the

equilibrium price and quantity, consumer surplus, producer surplus, and total surplus.

(b) Country A then opens the market to trade. Draw another graph to describe the new situation in the cocoa bean market.

Calculate the equilibrium price, quantities of conSumptienand preduction, imports, consumer surplus, producer surplus,
and total surplus.

(¢) After a while, the government of country A responds to the pleas of cocoa bean producers by placing a $1 per bag tariff

on cocoa bean imports. On the graph you drew in (b), show the effects of this tariff, Calculate the equilibrium price,
quantities of consumption and production, imports, consumer surplus, producer surplus, government revenue, and total
surplus.

(d) What are the gains from opening up trade? What are the deadweight losses from restricting trade with the tariff? Give

numerical answers.

[#, (18%) Economists use labor-market data to evaluate how well an economy 18 using its most valuable resource—its
people. There are two closely watched statistics: (1) the unemploymentrate and
(2) the employment-population ratio (caleulated as the percentage of the adult population that is employed).
Explain what happens to each of the two rates in the following scenarios.

(a) An auto company goes bankruptiand lays off its workers, who immediately start looking for new jobs.

(b) After an unsuccessful search, some of the laid-off workers quit looking for ncw jobs.

(c) Numerous students graduate from college"butseannot find worke

(d) Numerous students graduate from college and immediately begin new jobs.

(e) A stock market boom induces newly enriched 60-year-old workers to take early retirement.

(f) Advances in healthcare prolong the life of many retirees.

\5'. (8%) International data show a positive correlation between income per person and the health of the population.
(a) Explain how higher income might cause better health outcomes.

(b) Explain how better health outcomes might cause higher income.
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